a-b=4v2 4 W, a® + b> - 2ab — 4(a - b) - 8 °] S Fotolet,
=

| 2
> Hehl 24-16v2

S5 ~
a® +b? —2ab - 4(a-b) -8
=(a-b)?-4(a-b)-8
= (4V2)2-4x4V2-38
=32-16V2-8=124-162




2. a+b=2,a>-0>=10<L W, a-b 2 FS F5tt.

a’>-b*=(a+b)(a-b)=2x(a-b)=10
“a-b=5




48 £, g(x) ol Bstel L) an b b bRl o, 6ab o

g(x)
e Fahodzt,

f(x) =6x>+9x+3, g(x) =6x+6

f(x)  6x2+9x+3

glx)  6x+6
3(x+1)(2x+1)
:w
_ 2x+1 1
== —=x+;

1 1
x+§:ax+b°]E—E-—a=1, b=§

.‘.6ab:6x1x%:3




@y +x?=xy(x+y)=-1x1=-1




5.

O (x+y+1)(x+y-3) @ (x+y-1D(x+y-3)
(@)(x+y—1)(x+y+3) @ (x+y+1)(x+y+3)

® (x+y-1D(x+y-2)

— (A-1)(4+3)
=x+y-1(x+y+3)




x% —4x +3)(x% +6x+8) + 25

(

=A% - 14A + 49

— (A-7)?

= (2 +x-7)2




7. U dgEs) I ol 8 TS BF A2H? (Fa>0,b>0)

W4yl dy -1 =2 - (D2 -4y +1)=x>-(2y-1)?2 =
(x+2y-1)(x—2y+1)

@® a* +2ab + b* = (a+ b)?
@)a? - 2ab + b? = (a - b)?
@)a?-b* = (a+b)(a-b)
@ x>+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

B ~
P-4 +4y-1
=x2— (D% -4y +1)
=x2—(2y-1)2 .- [a®-2ab+b* = (a-b)?]
=(x+2y-1)(x-2y+1)--- [a®>=b*>=(a+Db)(a-b) ]
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4y
=2x+
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